
SUOGESTED ANSWERS FOR PLE 2022

I

q,0oq,0E7
2 0.5 3 -roo,-f, o.s, f,,o.sz,t, s, too

{ Sdoyc ond 0hro 5 2$,72q 6 Yoe ls dtvlstble by ll

7. -E+20=lOx-lx
12 =6x
l2+5 =x X=2

E a7
140

I 5.63k9

t0 ll25 leornoe tl 7 t2 r8,rqE.650
t3 Hl,6OOFrw Itl I0E,'{55,567 t5 6t,E75

t6 o) tl

b) q6
t7 6CF={ IE Rotlo=lr3

lq 132.500Frw zo 1,600,000 2l -sU

22
t = ll50 ?3 0.625 2rl 23507k9s

25 o) 260kg
b) 17

26 C=Dx n
c=qzxT
C = l32cm

l00Ofrw/kg
9,00Ofrw
3000frdkg
Totol = 2i900frw
Bolonco. 600frw

27 D = (l0l- l)

=100x20
= 200cm

28 tZA x4
-3

= l6ohm
29 3t.52 33

30 4O xS
20

=10
3t o) L= 20m

b) (t) = 27m'
(ll) H= 3M

32 o) Morch
b) Moy
c) tEoookg
d) 9900,000Fr.w

3tl x= 160'- tEo" + 10",

x=500
b) D = l2km/hr

35 o,

b)

6/65tO
Mtxturc . 600kg
2nd typo = 60o19 - 200tg ={0019
Prlcc mlxruro 2E0F/kgx 600kg = iOgO0OfRW
Prlco of l. = 3500Frw x 200kg = 72000F
Prlcc of 2nd = l5E0O0 - 72OOO = 96000 fnw

MATH PLE & MocK PAST PAPER woRKBook FoR PBIMARY slx by ExcEL EoucATtoNAL sERvtcEs TEL.07B8 649g94 K,GAL1-RyANDA 1 14



-

t

lites of sugor eoch
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there qre s0 chrrdren, h how mony doys wourd they use 2i{kg of sugor? (3s mks)

(b). Ho* mony chtldren would use ltkg of sugor in 35 doys? (3'5 morks)

n'n R ot 7'00om ond

trovels ot on overog"'.t""a of OOt*lt'"' 0n the some !1y 
o.!us 

!1yes I"Yf^
8,00qm ond trovels .t;;;;.n".t""a of 9gkm/hr' If both vehicleE don't stop on

the woy, of whot dr"ton"" f.o*-to*n A does the bus cofch up wlth the oor? (7 morks)

s qnd their coordinqtes'

o1o, 05, A(t, t), Bai" 2), c(3, 3), D('{' tl) ondE(5' 5 ). (7 morks)

(o). Plot the coordhstes of these pohts on the squored poPer obove ond wrtfe the

leiters whlch corespond to the polnts'

(b). Jorn the Polnts wtth o ltne'

complete tt " "o-o"d'no*' 
of' F(O(c). From the groPh, "ory

uor* 
sERvlcEs rEL'0788 4498s4 KIGALI-BwANDA


